SL.No.: 2122000034



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : **ANUP DEBNATH**

ROLL NO.: 2028881020034

REGN.NO.: 2088810220020

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	51		S.S.	28.4	5 5	200	S 20
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	18	100	69	A	6.90	4.00	27.6
CORE COURSE: HIS202	Theory	75	52	80	- A .	1	2	8.0	5 2
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	18	100	70	A+	7.00	4.00	28.0
CORE COURSE: HIS203	Theory	75	51	100	5		8 J	200	2
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	22	100	73	A+	7.30	4.00	29.2
CORE COURSE: HIS204	Theory	75	49	100	66	25	33	¥ 3	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	17	100		A	6.60	4.00	26.4
	ी के बाद क						100 - 100 -	10 - 10 - 10 - 10 - 10 - 10 - 10 - 10 -	
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5			.95	
278	S 5 5 16			111.20	3	SGPA	8 3 S	50	
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę	J.	5 \$	3	\$ 3

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000021



INSTITUTION CODE : 888

GRADE CARD

SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : **APU BISWAS**

ROLL NO.: 2028881020021

REGN.NO.: 2088810220021

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	51		S.S.	28 4	2 22	\$ 3	F 20
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	19	100	70	A+	7.00	4.00	28.0
CORE COURSE: HIS202	Theory	75	51	8.0	5.3	5 . F	2	ళ్యె	3 8
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	19	100	70	A+	7.00	4.00	28.0
CORE COURSE: HIS203	Theory	75	51		5.5		6 J	200	5 8
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	23	100	74	A+	7.40	4.00	29.6
CORE COURSE: HIS204	Theory	75	52	3	55	8 5	2° 5	7 20	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	17	100	69	A	6.90	4.00	27.6
	S Ster								
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	SCDA		.08	
283	0 5 0 16			113.20	34 40	SGPA	3° 3'		
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$	£2,	5 \$		\$ 5

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000033



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : ASRAFUL ALAM

ROLL NO.: 2028881020033

REGN.NO.: 2088810220022

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	53		S. 3	284	224	\$0 \$	F 20
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	18	100	71	A+	7.10	4.00	28.4
CORE COURSE: HIS202	Theory	75	51	83		3	3	<u> </u>	5 8
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	19	100	70	A+	7.00	4.00	28.0
CORE COURSE: HIS203	Theory	75	52		5-2		ర్ స్	200	5 8
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	23	100	75	A+	7.50	4.00	30.0
CORE COURSE: HIS204	Theory	75	53	100	5 5	25	33	7 2	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	19	100	72	A+	7.20	4.00	28.8
	S. S								
Grand Total Full Marks : 400	Total Ci	redit	Total C	Credit Poin	8 5			.20	27. A
288	0 16			115.2	3 4	SGPA		20	
	Course(s)/Paper(s) not cl	eared ma	rked as	'Ę\$	Ę,	5 \$	3	\$ 3

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000023



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : BASUDEB DEBNATH

ROLL NO.: 2028881020023

REGN.NO.: 2088810220023

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	52		S.S	28 4	2 24	5	F 3
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	19	100	71	A+	7.10	4.00	28.4
CORE COURSE: HIS202	Theory	75	54	83	S. 3	2.3	2.	ళ్ నె	S 5
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	17	100	71	A+	7.10	4.00	28.4
CORE COURSE: HIS203	Theory	75	51	3	5.5	37.5	8 3 °	\$00	5 4
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	22	100	73	A+	7.30	4.00	29.2
CORE COURSE: HIS204	Theory	75	49	3	54	15	25	8 2	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	19	100	68	A	6.80	4.00	27.2
	S Sterr								
Grand Total Full Marks : 400	Total Ci	redit	Total C	Credit Poin	8 5			.08	
283				113.2		SGPA		.00	
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$	\$P.	5 \$	25	\$ 5

J. Challowbork

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000031



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : BATASI SARKAR

ROLL NO.: 2028881020031

REGN.NO.: 2088810220024

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	51		S.S.	284	2 2	\$	F 2
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	16	100	67	A	6.70	4.00	26.8
CORE COURSE: HIS202	Theory	75	53	83	- Si . 5	3	3	<u> </u>	5 8
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	19	100	72	A+	7.20	4.00	28.8
CORE COURSE: HIS203	Theory	75	52		5-2		6 J	200	5 2
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	22	100	74	A+	7.40	4.00	29.6
CORE COURSE: HIS204	Theory	75	50	3	5 5	25	33	¥ 2	5 3
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	18	100	68	A	6.80	4.00	27.2
Grand Total Full Marks : 400	STotal C	redit	Total C	Credit Poin	8 5	SCDA		.03	
281				112.4	2 ⁴ 4 ³	SGPA		.03	
國際總統選	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$	3	5 4	25	\$ 3

J. Challowbork

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000024



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : BISWAJIT BARMAN

ROLL NO.: 2028881020024

REGN.NO.: 2088810220025

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi
CORE COURSE: HIS201	Theory	75	50		5.20	24	222	200	N 20
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	17	100	67	A	6.70	4.00	26.8
CORE COURSE: HIS202	Theory	75	50	8.0	S. 3		3	8.0	5 6
NTELLECTUAL AND CULTURAL HISTORY OF INDIA FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	20	100	70	A+	7.00	4.00	28.0
CORE COURSE: HIS203	Theory	75	52	400			7.00	200	
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	24	100	76	A+	7.60	4.00	30.4
CORE COURSE: HIS204	Theory	75	52	100	71	254	33	¥ 3	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	19	100		A+	7.10	4.00	28.4
	S. S								
Grand Total Full Marks : 400	Total Ci	redit	Total C	Credit Poin	8 5	SGPA	\$ } }	.10	
284	0 16			113.6	34 43	JGFA	5 3 5		
	Course(s)/Paper((s) not cl	eared ma	rked as	'Ę	3	5 5	3	\$ 3

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000030



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : **HABIBA BEGAM**

ROLL NO.: 2028881020030

REGN.NO.: 2088810220026

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	50		S. S	28 4	2 2	\$	5 3
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	17	100	67	A	6.70	4.00	26.8
CORE COURSE: HIS202	Theory	75	49	8.5	5.5	5 . S	25	ళ్యే	3 5
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	18	100	67	A	6.70	4.00	26.8
CORE COURSE: HIS203	Theory	75	50		5-5		5 J	200	5 8
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	24	100	74	A+	7.40	4.00	29.6
CORE COURSE: HIS204	Theory	75	49	3	55	25	23	7 20	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	18	100	67	A	6.70	4.00	26.8
	Marcia Alexandria						Contraction of the second		
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	CODA		.88	
275	0 16			110.0	3 4 3	SGPA	225		
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę¢		5 5		\$ 25

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000038



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : **JAYANTI ROY**

ROLL NO.: 2028881020038

REGN.NO.: 2088810220027

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)	
CORE COURSE: HIS201	Theory	75	52		5.30	284	222	\$0.0	F 20	
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	17	100	69	A	6.90	4.00	27.6	
CORE COURSE: HIS202	Theory	75	51	8 3			2	8 3	5 8	
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	18	100	69	A	6.90	4.00	27.6	
CORE COURSE: HIS203	Theory	75	51	3	5.5		5 J	200	5 8	
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	22	100	73	A+	7.30	4.00	29.2	
CORE COURSE: HIS204	Theory	75	51		55	254	23	¥ 2	5 1	
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	18	100	69	A	6.90	4.00	27.6	
Grand Total							2 4 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			
Full Marks : 400	S Total C	redit	Total C	Credit Poin	8 5	SGPA 7.00				
280				112.0	3 43	3				
	Course(s)/Paper((s) not cl	eared ma	rked as	'Ę\$		5 \$		\$ 3	

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000027



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : MALAY ADHIKARY

ROLL NO.: 2028881020027

REGN.NO.: 2088810220028

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	50		S. S	28 4	2 2	\$	5 3
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	17	100	67	A	6.70	4.00	26.8
CORE COURSE: HIS202	Theory	75	51	8.0	3.3	5 . F	2	8.3	3 8
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	18	100	69	A	6.90	4.00	27.6
CORE COURSE: HIS203	Theory	75	49		5.5		5 J	200	5 8
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	20	100	69	A	6.90	4.00	27.6
CORE COURSE: HIS204	Theory	75	46	3	57 5	25	33	7 2	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	17	100	63	A	6.30	4.00	25.2
	S. S						and a construction	A Carlo La	
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5			.70	
268				107.2	3	SGPA	8		
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$	Ę,	5 \$	25	\$ 5

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000041



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : MALINDRA BARMAN

ROLL NO.: 2028881020041

REGN.NO.: 2088810220029

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	52	10	5.3	5 4	5 5	\$ 3	F 20
HISTORIOGRAPHY AND PHILOSOPHY OF HISTOR' (PART-2)	Internal	25	19	100	71	A+	7.10	4.00	28.4
CORE COURSE: HIS202	Theory	75	51	80	5.3	2	<u></u>	8 3	5 8
INTELLECTUAL AND CULTURAL HISTORY OF INDI (FROM 13TH CENTURY CE TO THE PRESENT)	A Internal	25	19	100	70	A+	7.00	4.00	28.0
CORE COURSE: HIS203	Theory	75	48		5-5		6 J	200	5 8
THE WORLD SINCE 1919 TO THE END OF THE COI WAR	LD Internal	25	23	100	71	A+	7.10	4.00	28.4
CORE COURSE: HIS204	Theory	75	51	1	55	8 5	2° 5	¥ 2	5 3
SCIENCE AND TECHNOLOGY AS DETERMINANT O	F Internal	25	18	100	69	A	6.90	4.00	27.6
								at Joan Jo	
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	SCDA	\$ } }	.03	
281				112.4	34 43	SGPA	2 3 3	.03	
	Course(s)/Paper	(s) not cl	eared ma	rked as	'ʰ`	\$P.	5 \$	25	\$ 3

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000025



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : MANAS THAKUR.

ROLL NO.: 2028881020025

REGN.NO.: 2088810220030

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	52		S.S.	284	5 3	\$ 3	F 20
HISTORIOGRAPHY AND PHILOSOPHY OF HISTOF (PART-2)	Internal	25	19	100	71	A+	7.10	4.00	28.4
CORE COURSE: HIS202	Theory	75	55	83	- Si . 5		<u></u>	8 23	5 8
INTELLECTUAL AND CULTURAL HISTORY OF INE (FROM 13TH CENTURY CE TO THE PRESENT)	DIA Internal	25	18	100	73	A+	7.30	4.00	29.2
CORE COURSE: HIS203	Theory	75	53		5-2		6 J	200	5 2
THE WORLD SINCE 1919 TO THE END OF THE CO WAR	Internal	25	21	100	74	A+	7.40	4.00	29.6
CORE COURSE: HIS204	Theory	75	52	3	5 5	25	3.	7 20	5 2
SCIENCE AND TECHNOLOGY AS DETERMINANT PROGRESS IN THE MODERN WORLD	OF Internal	25	17	100	69	A	6.90	4.00	27.6
	A BREE						Con the second	AL DATE	
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5		5 5	.18	
287				114.8	3	SGPA		.10	
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$	J.	5 \$	3	\$ 3

J. Challowbork

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000039



INSTITUTION CODE: 888

GRADE CARD

SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : MANASHI ROY

ROLL NO.: 2028881020039

REGN.NO.: 2088810220031

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	52		5.20	2 4	5 5	20 A	F 20
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	19	100	71	A+	7.10	4.00	28.4
CORE COURSE: HIS202	Theory	75	53	8.5	5.3		3	8 ₂ 2	5 6
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	17	100	70	A+	7.00	4.00	28.0
CORE COURSE: HIS203	Theory	75	48	100	5		8 J	200	5 5
THE WORLD SINCE 1919 TO THE END OF THE COLD	Internal	25	23	100	71	A+	7.10	4.00	28.4
CORE COURSE: HIS204	Theory	75	50		3 5	25	32	¥ 3	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	17	100	67	A	6.70	4.00	26.8
							Car 10 ar 10 ar		
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	SGPA	222	.98	
279	5 5 5 16 [°]			111.6	3 4 3	JUFA	8 5		
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę	\$ ² ,	5 5	25	\$ 5

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000020



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : NABIUL ISLAM

ROLL NO.: 2028881020020

REGN.NO.: 2088810220032

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	51		S.S.	28 4	222	\$ 3	F 2
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	19	100	70	A+	7.00	4.00	28.0
CORE COURSE: HIS202	Theory	75	52	80	3.3	5 . F	2	8.3	7 5
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	18	100	70	A+	7.00	4.00	28.0
CORE COURSE: HIS203	Theory	75	52		5-5		55	200	5 8
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	22	100	74	A+	7.40	4.00	29.6
CORE COURSE: HIS204	Theory	75	49	3	68	25	33	¥ 3	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	19	100		A	6.80	4.00	27.2
	ी के रहे ह						10 10 10 10 10 10 10 10 10 10 10 10 10 1	N. Color	
Grand Total Full Marks : 400	STotal C	redit	Total C	Credit Poin	8 5	SGPA 7.05			
282	S 5 5 16			112.8	34 23	- SGPA 7.05			
國際觀察課	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę♡	J.	5 \$		\$ 2

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000040



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : **PALI ROY**

ROLL NO.: 2028881020040

REGN.NO.: 2088810220033

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi
CORE COURSE: HIS201	Theory	75	52		S. 20	2 4	222	\$0 \$	F 40
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	18	100	70	A+	7.00	4.00	28.0
	Theory	75	50	8.0	- S	2. La	3	F 2	5 6
NTELLECTUAL AND CULTURAL HISTORY OF INDIA FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	17	100	67	A	6.70	4.00	26.8
CORE COURSE: HIS203	Theory	75	51	400	5		200	200	
THE WORLD SINCE 1919 TO THE END OF THE COLD	Internal	25	22	100	73	A+	7.30	4.00	29.2
CORE COURSE: HIS204	Theory	75	54	3	3 3	254	3	8.0	5.5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	17	100	71	A+	7.10	4.00	28.4
Grand Total	Total Ci	radit	Total	Credit Poin					
Full Marks : 400	16		23	112.4	8 5	- SGPA 7.03			
	Course(s)/Paper((s) not cl	eared ma	rked as	'E		5 4		4 ⁷ ,3

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000022



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : **PAPI ROY**

ROLL NO.: 2028881020022

REGN.NO.: 2088810220034

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	53		S.S.	284	22	\$0.0	4 4 D
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	18	100	71	A+	7.10	4.00	28.4
CORE COURSE: HIS202	Theory	75	51	83	- Si . 5	3	3	<u> </u>	5 8
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	18	100	69	A	6.90	4.00	27.6
CORE COURSE: HIS203	Theory	75	51		5-2		6 J	200	5 4
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	23	100	74	A+	7.40	4.00	29.6
CORE COURSE: HIS204	Theory	75	52	3	70	25	33	7 2	5 3
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	18	100		A+	7.00	4.00	28.0
							10 4 10 10 4 10 10 10 10 10 10 10 10 10 10 10 10 10		
Grand Total Full Marks : 400	Total Ci	redit	Total C	Credit Poin	8 5	- SGPA 7.10			
284				113.6	34 23				
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$	4	3 \$	25	\$ 3

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000029



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : **PINKI RAY**

ROLL NO.: 2028881020029

REGN.NO.: 2088810220035

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code &	Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)			
CORE COURSE: HIS201	\$ 3 X C	Theory	75	52		S.S.	584	2 24	5	F 3			
HISTORIOGRAPHY AND PHILOSO (PART-2)	PHY OF HISTORY	Internal	25	17	100	69	A	6.90	4.00	27.6			
CORE COURSE: HIS202	1823	Theory	75	49	8.5	5.5	T S	2	శ్వా	. . .			
INTELLECTUAL AND CULTURAL F (FROM 13TH CENTURY CE TO TH		Internal	25	17	100	66	A	6.60	4.00	26.4			
CORE COURSE: HIS203	\$ 5 5 5 F	Theory	75	51		5.5	3	0.5	\$ 2	5 8			
THE WORLD SINCE 1919 TO THE WAR	END OF THE COLD	Internal	25	21	100	72	A+	7.20	4.00	28.8			
CORE COURSE: HIS204	2 3 8	Theory	75	49	3	68	25	3	¥ 3	5 5			
SCIENCE AND TECHNOLOGY AS PROGRESS IN THE MODERN WO		Internal	25	19	100		A	6.80	4.00	27.2			
		S. S						10 4 10 4 10 4 10 10 10 10 10 10 10 10 10 10 10 10 10					
	Grand Total Full Marks : 400	Total Ci	redit	Total C	Credit Poin	8 5	- SGPA 6.88						
	275	0 16			110.00	34 43							
		Course(s)/Paper(s) not cl	eared ma	rked as	'Ę	Ę,	5 \$	25	\$ 3			

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000035



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

SECOND SEMIESTER EXAMINATION, 202

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : **PRASENJIT DEY**

ROLL NO.: 2028881020035

REGN.NO.: 2088810220036

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	49	20	S. S	58	5 5	3	F 20
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	17	100	66	A	6.60	4.00	26.4
CORE COURSE: HIS202	Theory	75	49	83	5.5	5 . S	2	ళ్యే	3 S
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	16	100	65	A	6.50	4.00	26.0
CORE COURSE: HIS203	Theory	75	51	3	5.5	37.5	6 3 °	\$	5 4
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	21	100	72	A+	7.20	4.00	28.8
CORE COURSE: HIS204	Theory	75	49	3	66	9 . 3	23	7 2	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	17	100		A	6.60	4.00	26.4
	A Sector								
Grand Total Full Marks : 400	S Total C	redit	Total C	Credit Poin	8 5	- SGPA 6.73			25 . S
269	S 5 16			107.6	3 4				
國際建築調	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$	Ę,	5 \$	23	\$ 3

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000042



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : SANJITA SARKAR

ROLL NO.: 2028881020042

REGN.NO.: 2088810220037

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	52		S.S.	28 4	2 2	\$ 3	F 27
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	18	100	70	A+	7.00	4.00	28.0
CORE COURSE: HIS202	Theory	75	50	8.5	3.3		3	¥ 3	3 8
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	16	100	66	A	6.60	4.00	26.4
CORE COURSE: HIS203	Theory	75	52		5.5		55	200	5 8
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	22	100	74	A+	7.40	4.00	29.6
CORE COURSE: HIS204	Theory	75	49	3	67	8 5	23	7 20	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	18	100		A	6.70	4.00	26.8
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	- SGPA 6.93			
277	0 16			110.8	3				
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$	\$P.	5 \$	25	\$ 5

J. Challowbork

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000028



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : SIULI KHATUN

ROLL NO.: 2028881020028

REGN.NO.: 2088810220038

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	52		S. 3	284	2 2	200	F 20
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	19	100	71	A+	7.10	4.00	28.4
CORE COURSE: HIS202	Theory	75	52	83			2	<u> </u>	5 8
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	20	100	72	A+	7.20	4.00	28.8
CORE COURSE: HIS203	Theory	75	51		5-2		6 J	200	5 4
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	22	100	73	A+	7.30	4.00	29.2
CORE COURSE: HIS204	Theory	75	51	3	71	25	33	7 2	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	20	100		A+	7.10	4.00	28.4
							10 44 10 44	2 10 10 10 10 10 10 10 10 10 10 10 10 10	
Grand Total Full Marks : 400	Total Ci	redit	Total C	Credit Poin	8 5	SGPA 7.18			
287	0 16			114.8	34 43	- SGPA 7.18			
	Course(s)/Paper	s) not cl	eared ma	rked as	'Ę\$	£,	5 5	25	\$ 5

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000036



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : **SUDIPTA RAY**

ROLL NO.: 2028881020036

REGN.NO.: 2088810220039

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	53	10	X 2	5 3	5 5	5	5 2
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	18	100	71	A+	7.10	4.00	28.4
CORE COURSE: HIS202	Theory	75	53	8 5	5.3	2.5	3	ళ్ నె	3 8
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	19	100	72	A+	7.20	4.00	28.8
CORE COURSE: HIS203	Theory	75	52	5	5.5	57 S	ల్స్	\$0.5	5 8
THE WORLD SINCE 1919 TO THE END OF THE COLD	Internal	25	21	100	73	A+	7.30	4.00	29.2
CORE COURSE: HIS204	Theory	75	54	5	71	9 . S	23	8 2	55
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	17	100		A+	7.10	4.00	28.4
	S S IS IS								
Grand Total Full Marks : 400	S S Total C	redit	Total C	Credit Poin	8 5	- SGPA 7.18			
287	S 5 5 16			114.8	3				
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$	\$ ²	5 \$	25	\$ 5

J. Challowbork

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000032



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : SUKUMAR SARKAR

ROLL NO.: 2028881020032

REGN.NO.: 2088810220040

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	50		S.S.	58	5 5	3	F 20
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	17	100	67	A	6.70	4.00	26.8
CORE COURSE: HIS202	Theory	75	49	80	5.5	N 2	2	ళ్యే	1 A &
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	17	100	66	A	6.60	4.00	26.4
CORE COURSE: HIS203	Theory	75	52	3	5.5	37.4	0 3 T	\$	5 4
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	23	100	75	A+	7.50	4.00	30.0
CORE COURSE: HIS204	Theory	75	50	5	69	9 . F	23	7 2	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	19	100		A	6.90	4.00	27.6
	A State						10 4 10 10 4 10 10 10 10 10 10 10 10 10 10 10 10 10		
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	5858585			02	
277	0 0 16			110.8	34 43	- SGPA 6.93			
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$	\$2°,	5 \$	25	\$ 2

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000037



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : TANUSREE BISWAS

ROLL NO.: 2028881020037

REGN.NO.: 2088810220041

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	51		S. S	28 4	2 2	\$	5 3
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	18	100	69	A	6.90	4.00	27.6
CORE COURSE: HIS202	Theory	75	49	8.5	5.5	5 . S	25	ళ్యే	3 S
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	18	100	67	A	6.70	4.00	26.8
CORE COURSE: HIS203	Theory	75	51		5.5		5 J	200	5 8
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	22	100	73	A+	7.30	4.00	29.2
CORE COURSE: HIS204	Theory	75	49	3	66	25	23	7 20	5 5
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	17	100		A	6.60	4.00	26.4
							Contraction of the second		
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	- SGPA 6.88			
275	0 16			110.0	3 4				
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę¢		૱ૼૺૼૢૼૼૼ		\$ ⁷ ,5 ⁷

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000026



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021

SECOND SEMIESTER EXAMINATION, 202

MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by NAME : URMILA DEY

ROLL NO.: 2028881020026

REGN.NO.: 2088810220042

SESSION: 2020-2021

for the Second Semester Examination in HISTORY, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: HIS201	Theory	75	50		S.S.	58	5,5	3	F 20
HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY (PART-2)	Internal	25	18	100	68	A	6.80	4.00	27.2
CORE COURSE: HIS202	Theory	75	50	8.5	5.5	2.3	2	হী ত্র	1. A. S.
INTELLECTUAL AND CULTURAL HISTORY OF INDIA (FROM 13TH CENTURY CE TO THE PRESENT)	Internal	25	19	100	69	A	6.90	4.00	27.6
CORE COURSE: HIS203	Theory	75	51		5.0	37.5	03	\$ 2	5 4
THE WORLD SINCE 1919 TO THE END OF THE COLD WAR	Internal	25	22	100	73	A+	7.30	4.00	29.2
CORE COURSE: HIS204	Theory	75	49	3	68	9 . . .	25	7 2	55
SCIENCE AND TECHNOLOGY AS DETERMINANT OF PROGRESS IN THE MODERN WORLD	Internal	25	19	100		A	6.80	4.00	27.2
	Marcine States								
Grand Total Full Marks : 400	S Total C	redit	Total	Credit Poin	8 5	- SGPA 6.95			25
278	S 5 16			111.20	3 3	- SGPA 6.95			
	Course(s)/Paper	(s) not cl	leared ma	rked as	'Ę\$	J.	5 \$	3	\$ 3

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021